HiTA-N A4 47 %4 ~ Studio HFE (%)

HE E17 N ® 04
%1 GER] AV v r—va v (EE, 7Le %)
8:45~10:15 | [WS] SMHEACHNA&TF —LELT 4 v 7
5 2 1] [GEz5] 7 — < 3iHH & @5 .
6)%()%1? H 10:?29;%2:00 [WS] @5 GREREL). BRoki ‘Hfgéﬁmfg
Lpe a0 | TWSY BI% GREHEL). RS sl A
Bam | (WS] W% RERL). FHsE
14:35~16:05 | [GEFE] SEHER (FL 7 41 %) 1D T
i e g
gsm | o] HERR LT
8:45~10:15 | Lkl =—=AAT =} A FicONT )
- [WS] Wﬂmﬁkﬁfﬁ\ Z—AFEHE (2—ZAF— AV FER)
6a17A |, 2ol [(WST =—X7E# (== XA7—F AV Tadh) | 2miitt
o 10.39;@2:00 (53] == ZA27— AV DT Ty vaT v 70w | Bt AF
L T | WS == (= =Ax7 b Ay b 7Ty vaTy7) | A
% 8 [El S IN= ag
14:35~16:05 | (WS1 =~ XH TR &EN
%9 GEx) 7402V v Z70E2T
8:45~10:15 [WS]) =— XEd# - = — A EHFAE &ER
5510 [7] e o4 . des -
6 H 18 H | 10:30~12:00 | (WS1 =— Gl - TG0 &HiIN AL
(7K) %11 [n] [#E] ——X0@ERicowT, =—2X0F [ 2AEHOF A et ki‘
12;301;1%;20 [WS] =—XFd#l - ¥ &ER il B
% = [ = ag
1435'\"1605 [WS] :"‘Xﬁaﬁ * dﬁ%ﬁﬁ&%y_—\!
B3 | (WS] = Raiil - Shedis S
8:45~10:15 | [E63%] = — X OB Ic oW T
% 14 IEI — 1= =] ag
6 H 19 H | 1030~12:00 | (WS1 =— X RIME &ER ALl
(R) o515 [0 [WS] = — X EFHE &ER et 7:@
12:50~14:20 | [WS] 7L 57— 3 v i LU AN
% 16 [0 [#Ex] “LEvrF—vavicont (b
14:35~16:05 | [WS)] 7L+ F— a v
17 [ N .
8:45~10:15 (WS] v ¥v 75— a v
18 | - o e . it -
6 120 0 | 10:30~12:00 | W] 7V 7 = e i o
(%) %19 [0 gy
25 o e e Hil A
[WS] Ly 5 —3 ¥
12:50~ 14:20 ] i 7= v = v i W ST
25 20 (0] [WS]) FL¥vF—13 g vl
14:35~16:05 | [7LE¥v] R&TLE v 7= 3 v RUKRGT

XWS:V—2r>av”




BN A AT A4 v Studio HFE ()

HE E17 N ® 04
FBNE EDIEDERE Y
8:45~10:15 | [WS) VU =2—3 = v#Et
%2 E — > yal T AN
9729 H | 10:30~12:00 | (WS1 =—xHfiE ‘%ﬁmﬁg
(A) 530 [WS] VVa—vaviaficonT il A
12:50~14:20 | [GEFK] VUV 2 —v a3 V&G o
54 0| [WS]) V)V a— 3 vigsSficown
14:35~16:05 | [GEFE] VUV 2 —v a3 V&GS
55 A [WS]) ez, kit
8:45~10:15 | [#h3%] 74 F 7ROV T
%‘g 6 IEI N — N g\ T AN
9H 30 0 | 10:30~12:00 | (WS1 ¥V a—va ‘%ﬁmﬁg
(k) 557 0] (] V) 2—v 3 viBEEticonT sl W\
12:50~14:20 | [WS] 74 F7H L &EIR o
% 8 [l O e
14:35~16:05 | (WS1 7V a—va vl
59 A [GEzR) ez, Rt
8:45~10:15 | [WS) VU 2—3 = viERicown<
5510 [A] (GE&) 74 X742 i o
10H1H | 10:30~12:00 | [WS] 74 F7H L &ER ‘%ﬁmﬁg
(k) 5511 [l (] YV a—va ViERiconT Sl A
12:50~14:20 | [WS] 74 F7H L &EIR o
12 [ [GEE] 7u F 2 AV ZIcDo0nT
14:35~16:05 | [WS] VYV a—v 3 viasf&re b 24y 2
513 [ [GEE] “u F 2 AV ZIcD0nT
8:45~10:15 | [WS) VYV a—v avil&Ta 24y
%14 0] [(WS) VVa—vavii& 7ot 247 . .
10 H2H | 10:30~12:00 | [E3%] o275 viconT ‘%ﬁmﬁg
(R) 55 15 [l (WS] Fut 24 vy r&ey 3277 v BGt Sl A
12:50~14:20 | [E#] R 7LEvIiconT o
14:?51?1%]:05 [WS])] FL¥vF—13 g vl
8_2’2171('?15 [WS] 7Ly 75— a v
% 18 [0 S s o (A -
10A3H | 10:30~12:00 | [WST 7Ve>7 == il Wit A
(%) % 19 ] . sl A
12:50~14:20 | (WST 7Ly 7= a vl WP SO
4120 [ (L] BRETLE VYT = 3 v RUKREE
14:35~16:05 s

XWS: 7 —2ovavs




